i)Y zaliad) 2840 (1o alad) J2a Jiasd a3

OE+

First 10 Questions - EmSAT Sample Test Solutions

caled) & ) Lasd) & linly ) & paiiad] pac (o) Caall & Al LYl zelial] & zeliad] 2850

07:32:10 2024-07-30 : zaliol| 28 calod) délo) Zo i

Compass EmSAT : . ja0)) talac|

clsl ) a oo dall) i 423 aall) dno N dy il

zaun zaie (o5 iSH auill (Sl Hlaed) alif 1> 1

adl by (g iS oitl (Slgi) sl ali] | 2

st LelSs 35l B uall g sl JIgl > 3
. E s . RN

(“GJ)")Q-” _}Sq.g_” (355 dxu L]



https://almanahj.com/ae/id=26480
https://almanahj.com/ae/15math3
https://almanahj.com/ae/15math
https://almanahj.com/ae/15
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-07-31
https://almanahj.com/ae/teacher_id=1790
https://www.facebook.com/groups/grade15uae
https://www.facebook.com/grade15uae
https://almanahj.com/s/3771d1
https://t.me/almanahj_bot
https://almanahj.com/ae/network15
https://bit.ly/3cm089z
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://almanahj.com/ae/id=26437
https://almanahj.com/ae/id=26410
https://almanahj.com/ae/id=26139
https://almanahj.com/ae/id=26139
https://almanahj.com/ae/id=26138
https://almanahj.com/ae/id=26138

) it 6 il 3aladly pasiad] e (S Ciall Cano colilad) Cre a5l

L) 8am ol e el LSE) () sl i) > 5

151‘30-!‘/\5\4-@-!\ B39



https://almanahj.com/ae/id=26137
https://almanahj.com/ae/id=26137
http://www.tcpdf.org

SAMBLE TEST
SOLUTIONS

MATH

Reach Your Potential

\ ./‘7;( < ’\' ;
nTeIeg ram Group S



https://t.me/+zyAug2Gf0NE2NTFk

1) Evaluate:

Solution:

The solution can be gained by simply
Substituting in the calculator
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9

2) Seven times the difference of 3x and
yis

Solution:

This problem is classified as a word
problem, and in such problems, we try to
analyze the words and the position of
them to reach an equation.

After the word "seven" We find the word
times which refer to the multiplication
process and whatever comes after it we
insertitin parentheses as follows:

7C )

Then we spot “The difference” which refers

to the subtraction operation which needs
two elements in this case they are the 3x
and y, and since they come after clause
“Seven times” their position would be
inside the in parentheses as follows:

7(3x —y)
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3) Evaluate:

Solution:

And this problem is considered a simple
substitution problem where you need to
substitute every variable with the value
given to this variable so x would be 2 and y
would be 4, as follows:

2-47°
-2

And the answer would be

-2

4) Evaluate:
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x(3—-2xy),x=2,y=1

Solution:

The solution here would be just like the
previous question, and the answer would
be —2
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5) Let x=1, y=—-1 Evaluate the
expression below.
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xy(3 —x)

Solution:

We do the same thing we did with
previous questions before and the answer
would be —2.

6) lIdentify the situation where the
answer to the question is zero?

Situation 1:

A trail on Jebal Hafeet, starts at an
elevation 100 meters above sea level. The
trail ends at sea level. What is the change
in meters of the trail in relationship to the
sea?

Situation 2:

At ski resort, the low temperature was —5°
Celsius. What is the difference between
the high temperature and the low
temperature that day?

Situation 3:

A boy jumps dives into a swimming pool 2
meters above the water. He sank 2 meters
and then swam to the surface of the water.
How many meters did the boy swim?

Situation 4:

A boy leaves his home and walks 1
kilometer due north and stops. He then
walks 1 kilometer due south and stops. At
this point, how many kilometers was the
boy from his home?
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Solution (English Version):

1. Trail on Jebel Hafeet:

- Start elevation: 100 meters above sea level

- End elevation: sea level (0 meters)

- Change in elevation: 100 - 0 =100 meters

Answer: Not zero. The change in elevation is 100 meters.
2. Ski resort temperatures:

- Low temperature: -5° Celsius

- High temperature: 5° Celsius

- Difference: 5 - (-5) = 10° Celsius

Answer: Not zero. The temperature difference is 10°C.
3. Boy diving into swimming pool:

- Starting position: 2 meters above water

- Sinks 2 meters below water surface

- Swims back to surface

- Total distance: 2m down + 2m up + 2m up = 6 meters

Answer: Not zero. The boy swam a total of 6 meters.
4. Boy walking north then south:

- Walks 1 km north

- Then walks 1 km south

- Netdistance: 1 km-1km=0km

Answer: Zero. This is the situation where the answer is zero.

The boy ends up back at his starting point, so the net distance from his home is zero
kilometers.

So the answer is the fourth situation.




7) The figure below has eight equal
sections.
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If the arrow is spun what is the
probability that the arrow will land on a
section with avalue less than2?

Solution:

This problem is a probability problem in
which we have two section which have the
number 1, three with 2, and 1 for each of
the numbers 3,4 and 5.

They asked us here to calculate the
probability that the arrow will fall on a
number less than 2, the number that
satisfy these criteria is 1. (Notice that they
said less than and not less than or equal to
2, otherwise we would have taken 2 as a
valid section too).

From the theory of probability, we can
remember that the probability of
something to happen is the number of
possible outcomes, which is here the
arrow falling on the number, over the
number of outcomes here which is the
number of sections, so the answer is:
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8) Points A(3,4)B(4,3),€(2,1) are
graphed below.

What are the coordinates of B’ and(’
after BC undergoes a dilation centered
at point A with scale factor of 2 ?
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Solution:

To Calculate the coordinates of point
B(x,y) after a dilation centered at point
A(a,b) with dilation factor k we use the
following relation:

B' = (k(x —a)+a,k(y —b) + b)

And in this case we have A(3,4)<and the
dilation factor k = 2.

So We first calculate the point B(4,3) after
this dilation using this law:

B =24 —-3)+3203-4)+4)
B' = (5,2)

And we do the same thing to the point
C(2,1):

C'=0202=-3)+32(1-4)+4)
C'(1,-2)
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9) Use the graph of the line t to answer & AN alical) LAl Sl Q) aadiul (9
the question that follows. 1A ) )
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and passes through the point (0,4). pibcal) o a5 bals5 4 Fiay b Laa J9a s (0,4)
Which table below represents 4 points ‘q

on the line q?
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Solution in English:

To determine which table represents the correct solution, we first need to derive the
equation that produces the relationship between these two numbers. The equation hereis a
linear equation, and for a straight line, the equation is as follows:

y=mx-+c
Where m is the slope, and b is the y-intercept.

When two lines are parallel, they have the same slope. Therefore, to calculate the slope of
line g, we calculate the slope of line | by taking two points from the graph. If these points are
where the line intersects the x-axis and y-axis, the points would be as follows:




Yy — axis: (g,;l)
X2 Y2

We calculate the slope using the relationship:

Y2 =1
m=

Xz_.xl

-1-0

~ 1
Mm="0_-3 "3

Thus, the equation of line g will be in the form:

! +b
=—x
y=3
To calculate b, we substitute the point that this line passes through (0,4) into the previous
equation:
4 = 1 0 +»b
-3
So the equation of the line is:
! + 4
==X
=3

Now that we've found the equation, we move to the given tables. In the tables, we substitute
each x from the first row and see if the result for the y value matches or not in the second
part of the table. (Note: Usually we only need to check the first value in the first row).

We see that if we substitute x = -6 from the first row in the first table on the left, the value for
y will be:

y=+2

This is different from the y value in the given table (—14).

Therefore, we move to the table on the right and see that if we substitute x = —6, the result
in the equation is indeed 2, and from this we conclude that the second table is the correct
choice.




10) Which statement explains Why the @ (—2,2) il 1 s Al B lall (10
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Solution (in English):
Itis the only point that satisfies both equation simultaneously.

Explanation:

When we talk about solving a system of two linear equations, we are looking for a point (x, y)
that satisfies both equations at the same time. This point represents the intersection of the
two lines represented by the equations in the coordinate plane.

Let's clarify this more precisely:
1. Each linear equation represents a line in the coordinate plane.
2. The solution to the first equation represents all points on the first line.
3. The solution to the second equation represents all points on the second line.
4. The common solution (intersection point) is the only point that lies on both lines.

When we substitute the coordinates of this point (x and y values) into both equations, it will
satisfy the equality in both. This is what makes it the unique solution to the system.

In special cases:
o Ifthe lines are parallel, there is no solution (no intersection point).

o If the lines are identical, every point on the line is considered a solution (infinite
number of solutions).




